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J—R#E | int[] ary;
| ary = new int[5];
| ary[@] = 1;
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7
/! BHIZRNT 5 ADFEDRHEZEETD
public class Samplelo 1

{

public static void main(String[] args)

{

int i;

/] BOIBHDES
int test[];
// int[] test; & EH&ECANTIAE

/] BCHIEZRDIER

test = new int[5];

/] BeHIZEHDEE EEHIERDERSDIFICSC IRE
// int test[] new int[5];
// int[] test new int[5];

/I BEHIBRENBZRA
test[0]=80;
test[1]=60;
test[2]=22;
test[3]=50;
test[4]=75;

/] BEHIBR (RAFE N5 4FET) ZIBEEICED
for(i=0; i<5; i++)
System.out.println(i+"EEDFEDREL "+test[1]+"TI, ");
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1 BFBEOFEDREIIL 60 TY,
2BFBDOFEDRESL 22 TY,
3FBDOFEDREIL 50 TT,

\4 FEEOFEDOREL 75 TT,

V—230— Rl
V=TI 74 )& : Sampleld_2.java

7

// BeHIZERDENBYSTER
import java.io.*;
public class Samplelo 2
{

public static void main(String[] args) throws IOException

{
int num; /] BEE
int[] test; /] BEDRY=ERTFI DEIEE

// F—h—FABDDESRE
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

// F—Ih—FAD
System.out.println("EEDAHZADLTIZSL) ");

num=Integer.parseInt(br.readlLine());

/] PEHDDOEIERZER

test = new int[num];

/] F—M—FEDORBEEINERNIRSICADTI D
for(int i=0@;i<num;i++)
test[i]= Integer.parseInt(br.readLine());

/] BERIBRICADSNTVDREZIBEICENTD
for(int i=@;i<num;i++)
System.out.println(i+"HBEDEEDRHIL +test[i]+"TI, ");
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V=D P4 )U% : Extle_1.java

(// WAFDEHHEDIR
public class Extle 1
{

public static void main(String[] args)

{

int i;

// BB HDES & 5 BDEIIERDIER
int[] test = new int[5];

// test[4]KVD EDEIIERNP DR
for(i=0; i<10; i++)
System.out.println(i+"&BBDBIIBHRIL "+test[i]+"TI, ");

\ y

XTEB
(@ HEOBESIRRIT 0TI, A
1 BEDEHIERIT 0 TT,
2 BEDEHIERIT 0 TT,
3 BEDEHIERIT 0 TT,

4 BEDBHIBRL 0 TT,
Exception in thread "main" java.lang.ArrayIndexOutOfBoundsE;
at Ext10_1.main(Ext10_1.java:13)
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(// BeHU DFIHAE

public class Samplel® 3
{
public static void main(String[] args)
{
// EBIDREAE
int test[]={80,60,22,50,75};

// int[] test={80,60,22,50,75}; CHECANTJAE

onn

// BeHIBRZED
for(int i=0;i<5;i++)
System.out.println(i+"SEBEDZEDREL +test[i]+" T, ");
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int[] ary;
ary = new int[]{2,5,8,6,3,7};

Fe. XVYw R Qava JOTSIVT 2 TR IC5IE L TEIT EEXIFBASINET
obj.methodl(new int[]{2,5,8,6,3,7});
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V=T 74 )L . Sampleld_4.java

{

\J

f?/%%?@“ﬁk@étﬁiit@?
public class Samplelo 4

public static void main(String[] args)

{

int i;
int nl=1, n2;
int[] aryl={1,2,3}, ary2;

/] int BEEHARA
n2=nl;

/] BOBIEENARA
ary2=aryl;

[/ BHERINBRZEN
System.out.println("nl="+n1l+", n2="+n2);
System.out.print("aryl={");
for(i=0;i<3;i++)
System.out.print(aryl[i]+" ");
System.out.println("}");
System.out.print("ary2={");
for(i=0;i<3;i++)
System.out.print(ary2[i]+" ");
System.out.println("}");

// —TF3D int BEHDEZEE
System.out.println("n2 := 2;");
n2=2;

/] —FIDENERDEBEZZEE
System.out.println("ary2[1] := 4;");
ary2[1]=4;

/] BHEERNBRZEND
System.out.println("nl="+n1+", n2="+n2);
System.out.print("aryl={");
for(i=0;i<3;i++)
System.out.print(aryl[i]+" ");
System.out.println("}");
System.out.print("ary2={");
for(i=0;i<3;i++)
System.out.print(ary2[i]+" ");
System.out.println("}");
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for (B EBE:ENELE)

J—R# | int[] ary={2,5,8,6,3,7};
| for(int i:ary)System.out.println(i);

o BRIORRICEET BET for XHEDESNET
1 BEDEDEL | FZT 0 DRIBEDENTHCHRASNET
2 EEDEDEL | FZT 1 DRIBEOENTHCHRASNET
3 EEDERDEL | FXT 2 ORNEEDENEHCRASNET

V=233 — Al
V=T 741 )U% : Extle_2.java

(// TITYVI\JRE for X

public class Extl1l0e 2
{

public static void main(String[] args)

{
/1 BHUIDHIHRE
int[] test={80,60,22,50,75};

/] BBIERZED
for(int num:test)
System.out.println(num);
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